Skupinova soutéz A 15.09.2014
NS 1 Kolinsky - Lauer 38 5,52 1
EW 6 | Hnatova - Erde 61 14,48
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 1 6
1 4 1 6 3NTx E -4 160 800 12 11/ 12
2 5 1 6 4C E 2 -80 100 5 11/ 12
3 4 1 6 4H N 2 -10 100 3| 117 12
4 4 1 6 4H w = 620 620 11/ 12
5 5 1 6 2H S -1 -140 100 1 11/ 12
6 4 1 6 3H E +1 -100 170 2| 11/ 12
7 4 1 6 6 NT S +1 1.710 1.470 6 | 11/ 12
8 19 1 6 3NT N +1 20 430 9 11/ 12
9 4] 1 6 3D N -1 10 50 2| 1/ 12
10 | 1 6 3NT S = 600 600 11/ 12
1M 4] 1 6 4Ss E +1 -440 450 11/ 12
12 45 1 6 1NT E 2 90 100 11/ 12
13 47 1 6 3H N -1 -80 100 1] 11/ 12
14 4 1 6 4H E +2 -460 480 1] 117 12
15 5| 1 6 2S E = -20 110 3| 117 12
16 5| 1 6 3s S +2 400 200 5| 11/ 12
17 05| 1 6 5H N +1 480 480 11/ 12
18 54 1 6 4S S +1 480 650 5 11/ 12
19 o5 1 6 4C E = -300 130 5 11/ 12
20 4o 1 6 4S S -1 340 100 10 | 117 12
21 57 1 6 5C E +2 -460 440 1 11/ 12
22 5 1 6 4S E +1 650 650 11/ 12
23 5| 1 6 3NT N = 610 600 11/ 12
24 5 1 6 6 H x N -1 420 100 11 | 117 12
25 4| 1 6 4H S +2 520 480 1] 11/ 12
26 55 1 6 5Cx E = 100 750 13 | 117 12
27 4 1 6 4Ss w +1 -450 450 11/ 12
28 g 1 6 1NT E +2 -50 150 3| 117 12
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Skupinova soutéz A

15.09.2014

NS 4 | Kopecky M - Kurka 58 13,82 2
EW 3 | Galbava - Spalovsky 39 6,18
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 4 3
1 .5 3 4 4Sx N -2 160 300 10 11/ 12
2 5 3 4 28 w = -80 110 1 11/ 12
3 4 3 4 3NT S = -10 400 9 | 11/ 12
4 , 3 4 4H E = 620 620 11/ 12
5 4 3 4 4Cx E = -140 510 9 11/ 12
6 4 3 4 4Sx N -3 -100 500 9 11/ 12
7 4 3 4 7NT S = 1.710 2.220 11 | 117 12
8 o 3 4 5C N -3 20 150 5 11/ 12
9 4 3 4 2S E = 10 110 3 11/ 12
10 40| 3 4 3NT N = 600 600 11/ 12
114 3 4 4s E +1 -440 450 11/ 12
12 45| 3 4 3C w 2 90 100 11/ 12
13 47 3 4 3D N -1 -80 100 1 11/ 12
14 44| 3 4 4H E +1 -460 450 11/ 12
15 5| 4 3 3S E -2 -20 100 3 11/ 12
16 | 4 3 4S N +1 400 450 2 11/ 12
17 4| 4 3 4H S +2 480 480 11/ 12
18 5| 4 3 5D x E -3 480 500 1 11/ 12
19 44| 4 3 3NT E +1 -300 630 8 | 11/ 12
20 | 4 3 4S S = 340 620 7 11/ 12
21 45| 4 3 3NT E +2 -460 460 11/ 12
22 ., 4 3 4S E +1 -650 650 11/ 12
23 4| 4 3 3NT N = 610 600 11/ 12
24 o 4 3 4H N +1 420 450 1 11/ 12
25 5| 4 3 6H S -1 520 50 1 | 117 12
26 ,,| 4 3 4S w 2 100 200 3 11/ 12
27 5| 4 3 4s W +1 -450 450 11/ 12
28 5 4 3 1NT w -1 -50 50 3 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 111 | Filip - Medlin A 25 5,84 4
EW | 116 | Hoderova - Pulkrab 46 14,16
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 111 116
1 45| 111 ] 116 4Sx N -2 160 300 10 | 117 12
2 44 111 | 116 3C E -1 -80 50 4 11/ 12
3 9 111 | 116 4H S -1 -10 50 1] 11/ 12
4 5 111 | 116 4H w = 620 620 11/ 12
5 4 111 | 116 3Cx E = -140 470 8 | 11/ 12
6 , 111 | 116 4Sx N -1 -100 100 11/ 12
7 4 111 | 116 6H N +1 1.710 1.460 6 | 11/ 12
8 4 111 | 116 3C N = 20 110 3 11/ 12
9 5 111 | 116 4s w -2 10 200 5 11/ 12
10 o 111 | 116 3NT N = 600 600 11/ 12
1M1 o 111 | 116 4Ss E = -440 420 1 11/ 12
12 40| 111 | 116 3C w -3 90 150 2 11/ 12
13 44 111 | 116 2S w +1 -80 140 2| 1/ 12
14 4| 111 | 116 4H E +2 -460 480 1] 117 12
15 43| 111 | 116 2C S -2 -20 200 5 117 12
16 14 111 | 116 4S N +1 400 450 2 11/ 12
17 16| 111 | 116 5H N +1 480 480 11/ 12
18 47| 111 | 116 5D x E 2 480 300 5| 11/ 12
19 55| 111 | 116 4D w = -300 130 5 11/ 12
20 5| 111 | 116 3s S = 340 140 5| 11/ 12
21 5| 111 | 116 3NT w +2 -460 460 11/ 12
22 ol 111 | 116 4S E +1 650 650 11/ 12
23 5| 111 | 116 3NT N = 610 600 11/ 12
24 5 111 | 116 5H N = 420 450 1 11/ 12
25 56| 111 | 116 4H S +1 520 450 2| 11/ 12
26 55| 111 | 116 3H N +1 100 170 2 11/ 12
27 5| 111 | 116 4Ss w +1 -450 450 11/ 12
28 5| 111 | 116 1NT E = -50 90 1] 11/ 12
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Skupinova soutéz A 15.09.2014

NS | 114 | Volhejn - Ruman¢ik 33 6,69

EW | 113 | Barnet - Kralik F 49 13,31

Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 114 113

1 450 113 ] 114 5D x w 2 160 300 4 | 11/ 12
2 44 113 | 114 28 w = -80 110 1 11/ 12
3 45 113 | 114 4H S -1 -10 50 1 11/ 12
4 4 113 | 114 3NT w +1 620 630 11/ 12
5 47 113 | 114 2H W -1 -140 50 5 11/ 12
6 5| 113 | 114 4H E -1 -100 100 5 11/ 12
7 4 113 | 114 7H N = 1.710 2.210 11 | 117 12
8 , 113 | 114 3C N +1 20 130 3 117 12
9 4 113 | 114 4Sx w 2 10 500 10 | 117 12
10 4 113 | 114 3NT N = 600 600 11/ 12
1M1 4 113 | 114 4s E = -440 420 1] 11/ 12
12 o 113 | 114 1NT E -3 90 150 2| 11/ 12
13 of 113 | 114 2Ss w +1 -80 140 2 11/ 12
14 40| 113 | 114 4H E = -460 420 1] 117 12
15 44 114 | 113 2Ss E -1 -20 50 2 11/ 12
16 45| 114 | 113 4S N +1 400 450 2 11/ 12
17 53| 114 | 113 4H S +2 480 480 11/ 12
18 54| 114 | 113 4S S = 480 620 4 11/ 12
19 55| 114 | 113 4D w = -300 130 5 11/ 12
20 56| 114 | 113 28 S +2 340 170 5| 11/ 12
21 46| 114 | 113 3NT E +3 -460 490 1] 11/ 12
22 o 114 | 113 4S E +1 -650 650 11/ 12
23 5| 114 | 113 3NT N = 610 600 11/ 12
24 5 114 | 113 5H N = 420 450 1 11/ 12
25 5| 114 | 113 4H S +2 520 480 1] 11/ 12
26 5| 114 | 113 4Hx N = 100 790 12 11/ 12
27 5| 114 | 113 4s w +1 -450 450 11/ 12
28 ¢ 114 | 113 1NT w -1 -50 50 3 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 112 | Vozabal - Zadrazil 48 4,77
EW | 115 | Vojtik - Zylka 76 15,23
. . X Imp pro .
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 112 115
1 50 115 ] 112 5D x E -3 160 500 8 | 11/ 12
2 45 115 | 112 28 w = -80 110 1 11/ 12
3 44 115 | 112 4H N 2 -10 100 3 11/ 12
4 45 115 | 112 4H w = -620 620 11/ 12
5 16 115 | 112 3Hx W -3 -140 500 12 | 117 12
6 19| 115 | 112 4Sx N 2 -100 300 5 11/ 12
7 5| 115 | 112 6H N +1 1.710 1.460 11/ 12
8 o 112 | 115 4H S -4 20 200 6 | 11/ 12
9 4 112 115 2D N = 10 90 2 11/ 12
10 ,| 112 | 115 3NT N +1 600 630 1 11/ 12
1M1 5| 112 | 115 3C w = -440 110 8 11/ 12
12 ¢ 112 | 115 3D S -1 90 100 5| 11/ 12
13 4| 112 | 115 2S w +2 -80 170 11/ 12
14 o 112 | 115 4H E +2 -460 480 1] 117 12
15 of 112 | 115 2Ss E = -20 110 3| 117 12
16 44 112 | 115 4S N +1 400 450 2 11/ 12
17 47| 112 | 115 4H S +2 480 480 11/ 12
18 4g] 112 | 115 3s S +1 480 170 7| 117 12
19 50| 112 | 115 3NT w +2 -300 660 8 | 11/ 12
20 5| 112 | 115 4S S = 340 620 7 11/ 12
21 5| 112 | 115 3NT w +2 -460 460 11/ 12
22 5| 115 | 112 4S E +1 -650 650 11/ 12
23 4| 115 | 112 3NT N +2 610 660 2| 11/ 12
24 4 115 | 112 5H N = 420 450 1] 11/ 12
25 56| 115 | 112 6D S = 520 920 9 | 11/ 12
26 55| 115 | 112 5C E = 100 600 12 11/ 12
27 5| 115 | 112 6S w -1 -450 50 1M1 | 117 12
28 45| 115 | 112 1NT w = -50 90 1 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 123 | Kopfiva - Diamant 44 13,99
EW | 124 | Janikova - Frabsa 24 6,01
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 123 124
1 g 124 | 123 4Sx N -3 160 500 12 11/ 12
2 4| 124 | 123 3C E -1 -80 50 4 | 117 12
3 o 124 | 123 4H N -1 -10 50 1 11/ 12
4 4o 124 | 123 4H E = 620 620 11/ 12
5 44 124 | 123 2C E +1 -140 110 1] 11/ 12
6 5| 124 | 123 4H E -1 -100 100 5 11/ 12
7 47 124 | 123 6H N +1 1.710 1.460 6 11/ 12
8 14| 124 | 123 3C N = 20 110 3 117 12
9 o 124 | 123 2D N 2 10 100 3 11/ 12
10 55| 124 | 123 3NT S = 600 600 11/ 12
1M1 4| 124 | 123 4s E +1 -440 450 11/ 12
12 ,| 124 | 123 3D S = 90 110 1] 117 12
13 4| 124 | 123 2S W = -80 110 1 11/ 12
14 4| 124 | 123 4H E +2 -460 480 1 11/ 12
15 5| 123 | 124 3D N 2 -20 200 5 117 12
16 o 123 | 124 58 S = 400 450 2 11/ 12
17 50| 123 | 124 3NT N +1 480 430 2| 11/ 12
18 57| 123 | 124 4S S +1 480 650 5 11/ 12
19 5| 123 | 124 4D W = -300 130 5 11/ 12
20 55| 123 | 124 4S S = 340 620 7 11/ 12
21 4| 123 | 124 3NT W +2 -460 460 11/ 12
22 | 123 | 124 4S w +1 650 650 11/ 12
23 54| 123 | 124 3NT N = 610 600 11/ 12
24 4| 123 | 124 4H N +1 420 450 1 11/ 12
25 55| 123 | 124 4H S +2 520 480 1] 11/ 12
26 45| 123 | 124 3s w -1 100 100 11/ 12
27 5| 123 | 124 4s W +1 -450 450 11/ 12
28 14| 123 | 124 1NT w +1 -50 120 2| 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 125 | Hradil - Jelinek Z 12 0,85
EW | 122 | Bahnik P - Svoboda 78 19,15
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 125 122
1 4 122] 125 5D x E -3 160 500 8 | 11/ 12
2 4 122 | 125 28 w = -80 110 1 11/ 12
3 4 122 125 4H S -1 -10 50 1 11/ 12
4 4 122 | 125 4H w = 620 620 11/ 12
5 g 122 | 125 2C E -1 -140 50 5 11/ 12
6 o 122 | 125 3s N 2 -100 100 11/ 12
7 4] 122 | 125 7NT N = 1.710 2.220 11 | 117 12
8 15| 125 | 122 5C N -1 20 50 2| 11/ 12
9 44 125 | 122 2H N = 10 110 3 11/ 12
10 14| 125 | 122 3NT S = 600 600 11/ 12
1M 47 125 | 122 4s E +1 -440 450 11/ 12
12 46| 125 | 122 2D S -1 90 100 5| 11/ 12
13 18] 125 | 122 2S W +2 -80 170 11/ 12
14 4| 125 | 122 5H E +1 -460 480 1] 117 12
15 5| 125 | 122 1NT S +1 -20 120 4 11/ 12
16 4| 125 | 122 4S N +1 400 450 2 11/ 12
17 24| 125 | 122 4H S +2 480 480 11/ 12
18 57| 125 | 122 28 S +3 480 200 7| 117 12
19 05| 125 | 122 3NT E +1 -300 630 8 | 11/ 12
20 5| 125 | 122 3H w = 340 140 10 | 117 12
21 55| 125 | 122 6C E +1 -460 940 10 | 117 12
22 | 122 | 125 4S E +1 650 650 11/ 12
23 5| 122 | 125 3NT N +2 610 660 2| 11/ 12
24 55 122 | 125 5H N = 420 450 1] 11/ 12
25 56| 122 | 125 4H S +2 520 480 1 11/ 12
26 | 122 | 125 3H N +1 100 170 2| 11/ 12
27 5| 122 | 125 4s W +1 -450 450 11/ 12
28 45| 122 | 125 1NT E -1 -50 50 3| 117 12
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Skupinova soutéz A 15.09.2014
NS | 211 | Nuliek - Zajicek 45 13,13 1
EW | 216 | Volak - Voraé 30 6,87
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 211 216
1 4 211 ] 216 3Dx W -1 160 100 2| 1/ 12
2 5 211 | 216 28 w = -80 110 1] 11/ 12
3 4 211 | 216 4H N -1 -10 50 1] 11/ 12
4 4 211 | 216 3NT w = 620 600 1 11/ 12
5 5 216 | 211 | =+ |3NTx S -2 -140 500 8 11/ 12
6 4 216 | 211 | = |38 N -1 -100 50 2| 11/ 12
7 4 216 | 211 | == |7H S = 1.710 2.210 11 | 117 12
8 19| 216 | 211 | == |4C N = 20 130 3 117 12
9 g 216 | 211 | =+ |28 E = 10 110 3 11/ 12
10 o| 216 | 211 [ =+ |3NT N +1 600 630 1] 117 12
1M 44 216 | 211 [ =+ |45 E +1 -440 450 11/ 12
12 4| 216 | 211 | =+ |3D S = 90 110 1] 117 12
13 14| 211 | 216 2S W -1 -80 100 5 11/ 12
14 45| 211 | 216 4H w +1 -460 450 11/ 12
15 43| 211 | 216 2H N +1 -20 140 4 11/ 12
16 15| 211 | 216 4S N +1 400 450 2 11/ 12
17 16| 211 | 216 6H S = 480 980 11 11/ 12
18 47| 211 | 216 4S S = 480 620 4 11/ 12
19 55| 211 | 216 2NT E +1 -300 150 4 11/ 12
20 54| 211 | 216 3s S +1 340 170 5| 11/ 12
21 55| 216 | 211 | == [3NT W +2 -460 460 11/ 12
22 56| 216 | 211 | == [58 E = 650 650 11/ 12
23 go| 216 | 211 | == [3NT N = 610 600 11/ 12
24 5| 216 | 211 | == |4H N +1 420 450 1] 11/ 12
25 5| 216 | 211 | == |4H S +2 520 480 1 11/ 12
26 5| 216 | 211 | == [3H S +1 100 170 2| 11/ 12
27 5| 216 | 211 | == |45 W +1 -450 450 11/ 12
28 5| 216 | 211 | == [4NT w +1 -50 120 2 11/ 12
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Skupinova soutéz A

15.09.2014

NS | 214 | Ciza - Holy 28 5,52 1 1
EW | 213 | Kuk - Vrkoé¢ 51 14,48
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 214 213
1 46| 213 | 214 5D x E -3 160 500 8 | 11/ 12
2 45| 213 | 214 3s w +1 -80 170 3 11/ 12
3 4 213 | 214 4H S -1 -10 50 1 11/ 12
4 4| 213 | 214 4H w = 620 620 11/ 12
5 4 213 | 214 28s N -1 -140 100 1] 11/ 12
6 5 213 | 214 3s N -1 -100 50 2| 11/ 12
7 19| 213 | 214 6H N +1 1.710 1.460 6 11/ 12
8 14| 213 | 214 5C N -1 20 50 2 11/ 12
9 4 213 | 214 4s W -1 10 100 3| 117 12
10 o 213 | 214 3NT N = 600 600 11/ 12
1M1 o 213 | 214 4s E = -440 420 1] 11/ 12
12 40| 213 | 214 2NT E 5 90 250 4 | 117 12
13 53| 213 | 214 3D N = -80 110 5 117 12
14 14 213 | 214 4H E = -460 420 1] 117 12
15 44| 214 | 213 1NT S 2 20 200 5 117 12
16 54 214 | 213 2NT S -1 400 50 10 | 117 12
17 57| 214 | 213 4H N +2 480 480 11/ 12
18 55| 214 | 213 4S S = 480 620 4 11/ 12
19 5| 214 | 213 3NT E +1 -300 630 8 | 11/ 12
20 5| 214 | 213 4S S = 340 620 7 11/ 12
21 55| 214 | 213 3NT E = -460 400 2 11/ 12
22 54| 214 | 213 58 E = 650 650 11/ 12
23 5| 214 | 213 3NT N = 610 600 11/ 12
24 ;| 214 | 213 4H N +1 420 450 1 11/ 12
25 45| 214 | 213 4H S +1 520 450 2| 11/ 12
26 5| 214 | 213 3H N +1 100 170 2 11/ 12
27 ,| 214 | 213 58 w = -450 450 11/ 12
28 1| 214 | 213 1NT w = -50 90 1] 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 226 | Krizek - Stulc 39 8,23 1
EW | 221 | Bahnikova - Textor 47 11,77
. . X Imp pro .
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 226 221
1 430 226 | 221 5D x E -2 160 300 4 11/ 12
2 5| 226 | 221 28 w = -80 110 1] 11/ 12
3 45| 226 | 221 4H N -1 -10 50 1] 11/ 12
4 46 226 | 221 3NT w = 620 600 1 11/ 12
5 4 226 | 221 3H w -3 -140 150 7 11/ 12
6 4 226 | 221 4Sx N 2 -100 300 5 11/ 12
7 4 226 | 221 6H N +1 1.710 1.460 6 | 11/ 12
8 ,| 226 | 221 3D N -3 20 150 5 11/ 12
9 5 226 | 221 2H N -1 10 50 2| 1/ 12
10 o 226 | 221 3NT N = 600 600 11/ 12
1M1 4| 226 | 221 4s E +1 -440 450 11/ 12
12 o 226 | 221 2C w -1 90 50 1] 117 12
13 14| 226 | 221 3D N -3 -80 300 6 | 11/ 12
14 47| 226 | 221 4H E +2 -460 480 1] 117 12
15 of 226 | 221 2S E -1 20 50 2 11/ 12
16 55| 226 | 221 4S N +1 400 450 2 11/ 12
17 06| 226 | 221 4H S +2 480 480 11/ 12
18 57| 226 | 221 2D E = 480 90 11 | 117 12
19 55| 226 | 221 3H N -2 -300 100 5 11/ 12
20 54| 226 | 221 4S S = 340 620 7 11/ 12
21 56| 226 | 221 3NT E +2 -460 460 11/ 12
22 5| 226 | 221 4S E +1 -650 650 11/ 12
23 44| 226 | 221 3NT N = 610 600 11/ 12
24 4| 226 | 221 4H N +1 420 450 1 11/ 12
25 5| 226 | 221 6H S = 520 980 10 11/ 12
26 54| 226 | 221 4C E = 100 130 6 | 11/ 12
27 1| 226 | 221 4s W +1 -450 450 11/ 12
28 10| 226 | 221 1NT w +1 -50 120 2| 11/ 12
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Skupinova soutéz A 15.09.2014
NS | 225 | Braza - Urban V 55 9,76 1
EW | 222 | Erdeova - MasSek 56 10,24
Imp pro

Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano

NS EW 225 222
1 47 222 | 225 58 N -3 160 150 7 11/ 12
2 49| 222 | 225 28 w = -80 110 1 11/ 12
3 4 222 | 225 4H S = -10 420 10 | 117 12
4 4 222 | 225 3NT w 2 620 200 13 | 117 12
5 5| 222 | 225 3D N 2 -140 200 2 11/ 12
6 o3 222 | 225 4H E -1 -100 100 5 11/ 12
7 99| 222 | 225 6H N +1 1.710 1.460 6 11/ 12
8 14| 225 | 222 4C N = 20 130 3 11/ 12
9 4| 225 | 222 2Ss E +1 10 140 4 | 11/ 12
10 ,| 225 | 222 3NT S = 600 600 11/ 12
11 4| 225 | 222 4s E +1 -440 450 11/ 12
12 4| 225 | 222 3C w 2 90 100 11/ 12
13 16| 225 | 222 3s W -1 -80 100 5 11/ 12
14 44| 225 | 222 4H w +1 -460 450 11/ 12
15 4| 225 | 222 1NT S = -20 90 3 11/ 12
16 5| 225 | 222 3H N +2 400 200 5| 11/ 12
17 14| 225 | 222 4H S +2 480 480 11/ 12
18 4| 225 | 222 4S S = 480 620 4 11/ 12
19 45| 225 | 222 4D w +1 -300 150 4 11/ 12
20 55| 225 | 222 4H w 2 340 200 4 | 11/ 12
21 54| 225 | 222 3NT W +2 -460 460 11/ 12
22 4| 222 | 225 4S E = 650 620 1] 11/ 12
23 5| 222 | 225 3NT S -1 610 100 12 11/ 12
24 46| 222 | 225 3H N +2 420 200 6 11/ 12
25 g| 222 | 225 4H S +1 520 450 2 11/ 12
26 5| 222 | 225 4H N = 100 620 11 | 117 12
27 o 222 | 225 4s W +1 -450 450 11/ 12
28 jo| 222 | 225 3C w -1 -50 50 3| 117 12
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Skupinova soutéz A

15.09.2014

NS | 311 | Hebak - Chvalina 37 6,69 1
EW | 316 | BecCka - Toufar 53 13,31
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 311 316
1 5] 311 | 316 4Sx N -2 -90 300 5| 12/ 14
2 54 311 | 316 2S w +1 -60 140 2 | 12/ 14
3 5 311 | 316 4H S = 130 420 7 12/ 14
4 | 311 | 316 4H w = -620 620 12/ 14
5 5 311 | 316 4H W -4 90 200 3 12/ 14
6 5| 311 | 316 3H E +1 -160 170 12/ 14
7 5| 311 | 316 6H N +1 1.740 1.460 7| 12/ 14
8 .| 311 | 316 4C N +1 40 150 3 12/ 14
9 5 311 | 316 2S W = 10 110 3| 12/ 14
10 56| 311 | 316 3NT S = 440 600 4 12/ 14
1 4 311 | 316 4s E +1 -360 450 3| 12/ 14
12 , 311 | 316 3s w 2 30 100 2 12/ 14
13 4| 311 | 316 4s W = -10 620 12 | 12/ 14
14 4 311 | 316 4H E = -460 420 1 12/ 14
15 5| 311 | 316 3s E -1 -40 50 3 12/ 14
16 14| 311 | 316 4s N +1 400 450 2 12/ 14
17 15| 311 | 316 4H S +2 480 480 12/ 14
18 14| 311 | 316 3s S +1 280 170 3| 12/ 14
19 19| 311 | 316 3NT E +1 270 630 8 | 12/ 14
20 45| 311 | 316 4s S -1 350 100 10 | 12/ 14
21 44 311 | 316 3NT W +1 -450 430 1 12/ 14
22 47| 311 | 316 4s E +1 650 650 12/ 14
23 40| 311 | 316 3NT S = 520 600 2 12/ 14
24 44 311 | 316 4H N +1 450 450 11/ 13
25 4 311 | 316 4H S +2 490 480 12/ 14
26 o 311 | 316 3s w 2 150 200 2 12/ 14
27 5 311 | 316 6S W -1 -230 50 7 11/ 13
28 4 311 | 316 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A

15.09.2014

NS | 312 | Verdier - Zabransky 26 1,72 1
EW | 315 | Nosek - Vondrich 81 18,28
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 312 315
1 4 315 [ 312 5D w 2 -90 100 5| 12/ 14
2 4| 315 | 312 2S w +1 -60 140 2 12/ 14
3 46 315 | 312 4H S 2 130 100 6 12/ 14
4 | 315 | 312 3NT w +1 -620 630 12/ 14
5 44 315 | 312 3C E = 90 110 5 12/ 14
6 | 315 | 312 4H E -1 -160 100 6 | 12/ 14
7 4 315 | 312 7D S = 1.740 2.140 9 | 12/ 14
8 4 312 | 315 3C N = 40 110 2 12/ 14
9 44 312 | 315 28S w = 10 110 3| 12/ 14
10 5| 312 | 315 3NT S 2 440 200 12 | 12/ 14
11 5| 312 | 315 4s E +1 -360 450 3| 12/ 14
12 55| 312 | 315 1NT E 2 30 100 2 12/ 14
13 4| 312 | 315 3S w = -10 140 4| 12/ 14
14 ,| 312 | 315 6 H E = -460 980 11 | 12/ 14
15 4 312 | 315 28S E = -40 110 2| 12/ 14
16 4 312 | 315 4s N +1 400 450 2 12/ 14
17 5| 312 | 315 4H S +2 480 480 12/ 14
18 4 312 | 315 4s S -1 280 100 9 | 12/ 14
19 54| 312 | 315 5D w = 270 600 12/ 14
20 4| 312 | 315 3s N +1 350 170 5| 12/ 14
21 45| 312 | 315 3NT E +2 -450 460 12/ 14
22 45| 315 | 312 4s E +1 -650 650 12/ 14
23 49| 315 | 312 3NT N = 520 600 2| 12/ 14
24 7| 315 | 312 4H N +1 450 450 11/ 13
25 56| 315 [ 312 4H S +1 490 450 1 12/ 14
26 57| 315 [ 312 3H N +1 150 170 1| 12/ 14
27 54 315 | 312 45s w +2 -230 480 6 11/ 13
28 55| 315 | 312 1NT E = -120 90 1| 12/ 14
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Skupinova soutéz A 15.09.2014
NS | 323 | Libovicka - Sovova 49 10,92 2
EW | 324 | PeSout - Plhal 45 9,08
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 323 324
1 o 324 | 323 5Sx N -3 -90 500 9 12/ 14
2 4| 324 | 323 28 w -1 -60 50 3| 12/ 14
3 4 324 | 323 4H N = 130 420 7| 12/ 14
4 4 324 | 323 4H E = 620 620 12/ 14
5 5| 324 | 323 4Cx E -1 90 100 12/ 14
6 5 324 | 323 4s N -1 -160 50 3| 12/ 14
7 43| 324 | 323 7H N = 1.740 2.210 10 | 12/ 14
8 47| 324 | 323 4C N -1 40 50 3 12/ 14
9 44 324 | 323 2S W -1 10 100 3| 12/ 14
10 45| 324 | 323 3NT S +1 440 630 5| 12/ 14
11 40| 324 | 323 4s E = -360 420 2 12/ 14
12 50| 324 | 323 2NT N +1 30 150 3| 12/ 14
13 53| 324 | 323 2S W -1 -10 100 3| 12/ 14
14 54| 324 | 323 4H w +1 -460 450 12/ 14
15 4| 323 | 324 2D N -1 -40 100 2 | 12/ 14
16 ,| 323 | 324 4S N +1 400 450 2 12/ 14
17 55| 323 | 324 4H S +2 480 480 12/ 14
18 56| 323 | 324 4S S = 280 620 8 12/ 14
19 o 323 | 324 2NT E +2 270 180 12/ 14
20 o 323 | 324 3H w 2 350 200 4 | 12/ 14
21 40| 323 | 324 3NT W +2 -450 460 12/ 14
22 4| 323 | 324 4S E = 650 620 1 12/ 14
23 14| 323 | 324 3NT N = 520 600 2 12/ 14
24 45| 323 | 324 4H S +2 450 480 1 11/ 13
25 5| 323 | 324 6D S = 490 920 10 12/ 14
26 55| 323 | 324 5C E -1 150 100 2 | 12/ 14
27 5| 323 | 324 6S W -1 -230 50 7 11/ 13
28 54| 323 | 324 1NT E = -120 90 1 12/ 14
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Skupinova soutéz A 15.09.2014

NS | 325 | Lan¢ova - Svobodova 51 11,98 2 1
EW | 322 | Batelova - Batela 42 8,02

Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 325 322
1 49| 322 | 325 5D x E -2 -90 300 9 | 12/ 14
2 5| 322 | 325 28 w = -60 110 2 12/ 14
3 44| 322 | 325 4H S 2 130 100 6 12/ 14
4 ,| 322 | 325 4H E = 620 620 12/ 14
5 5 322 | 325 3D N = 90 110 1] 12/ 14
6 g 322 | 325 3s N 2 -160 100 2 | 12/ 14
7 ¢ 322 | 325 7H N = 1.740 2.210 10 | 12/ 14
8 ;| 325 | 322 5C N -1 40 50 3| 12/ 14
9 4 325 | 322 4Ss w -2 10 200 5 12/ 14
10 5| 325 | 322 3NT N = 440 600 4 12/ 14
11 54 325 | 322 4Ss E +1 -360 450 3| 12/ 14
12 55| 325 | 322 1NT E 2 30 100 2 12/ 14
13 5| 325 | 322 2S w +1 -10 140 4 | 12/ 14
14 54| 325 | 322 4H w = -460 420 1 12/ 14
15 19| 325 | 322 1NT S = -40 90 4 12/ 14
16 57| 325 | 322 4S N +1 400 450 2 12/ 14
17 45| 325 | 322 4H S +2 480 480 12/ 14
18 14| 325 | 322 4S S = 280 620 8 12/ 14
19 15| 325 | 322 3D w +2 270 150 12/ 14
20 46| 325 | 322 4S S = 350 620 7 12/ 14
21 45| 325 | 322 3NT E +2 -450 460 12/ 14
22 4| 322 | 325 4S E +1 650 650 12/ 14
23 47| 322 | 325 3NT N +1 520 630 3| 12/ 14
24 44| 322 | 325 4H N +1 450 450 11/ 13
25 4| 322 | 325 4H S +2 490 480 12/ 14
26 55| 322 | 325 4C E +1 150 150 7 12/ 14
27 4 322 | 325 6S w -1 -230 50 7| 117 13
28 ,| 322 | 325 1NT w +1 -120 120 12/ 14
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Skupinova soutéz A 15.09.2014
NS | 411 | Rovinska - Talpa 26 3,35 22
EW | 416 | Bohmova - Schulzova v 65 16,65
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 411 416
1 5 411 | 416 6C N -2 -90 100 12/ 14
2 | 411 | 416 28 w = -60 110 2 | 12/ 14
3 6| 411 | 416 4H N = 130 420 7 12/ 14
4 o 411 | 416 4H E = 620 620 12/ 14
5 50 411 | 416 3S N = 90 140 2 12/ 14
6 14| 411 | 416 4H E = -160 620 10 | 12/ 14
7 ¢ 411 | 416 6 H N +1 1.740 1.460 7| 12/ 14
8 ;| 411 | 416 3NT S -1 40 50 12/ 14
9 | 411 | 416 2H N -1 10 50 2 | 12/ 14
10 4 411 | 416 3NT S = 440 600 4 12/ 14
11 14| 411 | 416 4Ss E +1 -360 450 3| 12/ 14
12 55| 411 | 416 3D S -1 30 100 4 | 12/ 14
13 45| 411 | 416 3D S -1 -10 100 3| 12/ 14
14 14| 411 | 416 5H E = -460 450 12/ 14
15 54 411 | 416 2H N -1 -40 100 2 | 12/ 14
16 14 411 | 416 4S N +1 400 450 2 12/ 14
17 47| 411 | 416 4H N +2 480 480 12/ 14
18 55| 411 | 416 3s S +1 280 170 3| 12/ 14
19 56 411 | 416 5D w = 270 600 8 | 12/ 14
20 57| 411 | 416 4S S = 350 620 7 12/ 14
21 45| 411 | 416 5C E = -450 400 2 12/ 14
22 55| 411 | 416 4S E +1 650 650 12/ 14
23 5 411 | 416 1 NT x w -1 520 200 8 | 12/ 14
24 4 411 | 416 4H S +1 450 450 11/ 13
25 4 411 | 416 4H S +2 490 480 12/ 14
26 ,| 411 | 416 4S w 2 150 200 2 12/ 14
27 50| 411 | 416 58 w = -230 450 6 | 11/ 13
28 54 411 | 416 1NT x w +1 -120 280 4 | 12/ 14
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Skupinova soutéz A 15.09.2014
NS | 414 | Benak - Kafka 42 6,52 2
EW | 413 | Peterka - Subrt JiFi 59 13,48
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 414 413
1 44| 413 | 414 4Sx N 2 -90 300 5 12/ 14
2 45 413 | 414 28 w = -60 110 2 12/ 14
3 4 413 | 414 4H S -1 130 50 5 12/ 14
4 4 413 | 414 4H E = 620 620 12/ 14
5 4 413 | 414 3S N -1 90 100 5 12/ 14
6 o7 413 | 414 3s N 2 -160 100 2| 12/ 14
7 16| 413 | 414 7H N = 1.740 2.210 10 | 12/ 14
8 19 413 | 414 4C N = 40 130 3| 12/ 14
9 5 413 | 414 4s w 2 10 200 5| 12/ 14
10 o 413 | 414 3NT N = 440 600 4 | 12/ 14
11 54 413 | 414 3S E +1 -360 170 5| 12/ 14
12 55| 413 | 414 2NT E -4 30 200 5| 12/ 14
13 53| 413 | 414 3D N = -10 110 3| 12/ 14
14 5| 413 | 414 4H E +1 -460 450 12/ 14
15 5| 414 | 413 2C S -1 -40 100 2 | 12/ 14
16 56| 414 | 413 4S N +1 400 450 2 12/ 14
17 05| 414 | 413 4H S +2 480 480 12/ 14
18 47| 414 | 413 4D E -1 280 50 6 | 12/ 14
19 14| 414 | 413 4D w = -270 130 4 12/ 14
20 45| 414 | 413 4S S = 350 620 7 12/ 14
21 5| 414 | 413 3NT w +3 -450 490 1] 12/ 14
22 ol 414 | 413 4S E +1 -650 650 12/ 14
23 4| 414 | 413 3NT N = 520 600 2 12/ 14
24 , 414 | 413 4H N +1 450 450 11/ 13
25 0| 414 | 413 6D S = 490 920 10 12/ 14
26 45| 414 | 413 4C E = 150 130 7| 12/ 14
27 g| 414 | 413 4s w +1 -230 450 6 | 11/ 13
28 o 414 | 413 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A

15.09.2014

NS | 412 | MarSikova - Petrovsky 67 15,91 2 4
EW | 415 | Klukova - Lusk 34 4,09
. . X Imp pro .
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 412 415
1 43| 415 | 412 5D x W -3 -90 500 11 | 127 14
2 5| 415 | 412 2D w = -60 90 1 12/ 14
3 49 415 | 412 4H S -1 130 50 5 12/ 14
4 o 415 | 412 4H w = 620 620 12/ 14
5 5| 415 | 412 2H w -2 90 100 12/ 14
6 2| 415 | 412 3H E = -160 140 1] 12/ 14
7 4| 415 | 412 5H N +2 1.740 710 14 12/ 14
8 15| 412 | 415 3C N = 40 110 2 12/ 14
9 47 412 | 415 3H N -1 10 50 2 | 12/ 14
10 55| 412 | 415 3NT N = 440 600 4 12/ 14
11 06| 412 | 415 4s E = -360 420 2 | 12/ 14
12 55| 412 | 415 3D S -1 30 100 4 | 12/ 14
13 14| 412 | 415 3D N = -10 110 3 12/ 14
14 45| 412 | 415 4H E +1 -460 450 12/ 14
15 16| 412 | 415 2C S = -40 90 4 12/ 14
16 55| 412 | 415 4S N +1 400 450 2 12/ 14
17 5| 412 | 415 4H S +2 480 480 12/ 14
18 o 412 | 415 4D E -1 280 50 6 | 12/ 14
19 4| 412 | 415 3S N -2 -270 100 5 12/ 14
20 g| 412 | 415 4S S = 350 620 7 12/ 14
21 4| 412 | 415 3NT E +3 -450 490 1] 12/ 14
22 , 415 | 412 4S w +1 -650 650 12/ 14
23 4| 415 | 412 3NT N -2 520 200 12 12/ 14
24 4 415 | 412 4H N = 450 420 1 11/ 13
25 0| 415 | 412 4H S +2 490 480 12/ 14
26 15| 415 | 412 3s w = 150 140 7 12/ 14
27 54| 415 | 412 6S W -1 -230 50 7| 117 13
28 5| 415 | 412 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A 15.09.2014
NS | 423 | Pospichalova - Vidimsky 58 8,65 2
EW | 424 | Stupka - Skovran 64 11,35
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 423 424
1 59| 424 | 423 3H S -4 -90 200 3 12/ 14
2 47| 424 | 423 3s w -1 -60 50 3| 12/ 14
3 5| 424 | 423 4H N -1 130 50 5 12/ 14
4 oy 424 | 423 3H E = 620 140 10 | 12/ 14
5 of 424 | 423 4Dx N = 90 710 12 | 12/ 14
6 15 424 | 423 4Sx N -1 -160 100 2| 12/ 14
7 43| 424 | 423 6H N +1 1.740 1.460 7 12/ 14
8 o5 424 | 423 3C N +1 40 130 3| 12/ 14
9 5| 424 | 423 2H N = 10 110 3| 12/ 14
10 14| 424 | 423 2NT N = 440 120 8 12/ 14
11 55| 424 | 423 5H E -1 -360 50 9 | 12/ 14
12 55| 424 | 423 1NT w = 30 90 3 12/ 14
13 50| 424 | 423 2H N = -10 110 3| 12/ 14
14 44| 424 | 423 4H E = -460 420 1] 12/ 14
15 15| 423 | 424 1NT S 2 -40 200 4 | 12/ 14
16 56| 423 | 424 4S N +1 400 450 2 12/ 14
17 4| 423 | 424 4H S +2 480 480 12/ 14
18 ,| 423 | 424 4S S +1 280 650 9 12/ 14
19 4| 423 | 424 3NT E +1 -270 630 8 | 12/ 14
20 4| 423 | 424 4S S = 350 620 7 12/ 14
21 5| 423 | 424 3NT E +1 -450 430 1 12/ 14
22 4| 423 | 424 4S E +1 -650 650 12/ 14
23 ;| 423 | 424 3NT N = 520 600 2 12/ 14
24 o 423 | 424 5H N = 450 450 11/ 13
25 ;5| 423 | 424 4Hx S +1 490 690 5 12/ 14
26 ,,| 423 | 424 3NT w -4 150 400 6 12/ 14
27 59| 423 | 424 4s w +1 -230 450 6 | 11/ 13
28 16| 423 | 424 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A 15.09.2014
NS | 425 | Kupkova B - Vértelarova 42 5,37 2 7
EW | 422 | Cizkova M.- Cech 66 14,63
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Pram. Hrano
NS EW 425 422
1 54| 422 | 425 3NT S -2 -90 100 12/ 14
2 44 422 | 425 4C w -1 -60 50 3| 12/ 14
3 g 422 | 425 4H S -1 130 50 5 12/ 14
4 55| 422 | 425 4H w = 620 620 12/ 14
5 4 422 | 425 4Cx E -1 90 100 12/ 14
6 4 422 | 425 4H E = -160 620 10 12/ 14
7 16| 422 | 425 6 NT S +1 1.740 1.470 7 12/ 14
8 15| 425 | 422 5Cx N 2 40 300 8 | 12/ 14
9 47| 425 | 422 2NT S -5 10 250 6 | 12/ 14
10 5| 425 | 422 3D N 2 440 200 12 | 12/ 14
11 54| 425 | 422 3S E +2 -360 200 4 12/ 14
12 46| 425 | 422 2D S = 30 90 2 12/ 14
13 o 425 | 422 18 w +3 -10 170 4 | 12/ 14
14 4| 425 | 422 4H E +2 -460 480 1] 12/ 14
15 5| 425 | 422 1NT S -2 -40 200 4 | 12/ 14
16 1| 425 | 422 6Sx N -1 400 100 11 | 12/ 14
17 4| 425 | 422 4H S +2 480 480 12/ 14
18 ,| 425 | 422 2D E = 280 90 9 | 12/ 14
19 o 425 | 422 4D E = 270 130 4 12/ 14
20 o 425 | 422 4Hx w -1 350 200 4 | 12/ 14
21 55| 425 | 422 5C E +1 -450 420 1 12/ 14
22 4| 422 | 425 4S w +1 650 650 12/ 14
23 56| 422 | 425 1NT S +2 520 150 9 12/ 14
24 ,,| 422 | 425 0
25 jo| 422 | 425 4H S +2 490 480 12/ 14
26 1| 422 | 425 3s w -3 150 300 4 | 12/ 14
27 46| 422 | 425 0
28 44| 422 | 425 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A

15.09.2014

NS | 431 | Klima - Nedbal 39 5,37 2
EW | 436 | Kalalova A - Hlavac J 63 14,63
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 431 436
1 43| 431 | 436 4s N -2 -90 100 12/ 14
2 o 431 | 436 3C E 2 -60 100 4 12/ 14
3 o5 431 | 436 4H N -1 130 50 5| 12/ 14
4 55 431 | 436 4H E = 620 620 12/ 14
5 44 431 | 436 3Cx E +1 90 570 12 | 12/ 14
6 15| 431 | 436 3H E +2 -160 200 1] 12/ 14
7 15| 431 | 436 7H N = 1.740 2.210 10 12/ 14
8 15| 431 | 436 3C N +1 40 130 3 12/ 14
9 47 431 | 436 2H N -1 10 50 2 | 12/ 14
10 54| 431 | 436 3NT N = 440 600 4 12/ 14
11 o 431 | 436 4s E +1 -360 450 3| 12/ 14
12 5| 431 | 436 2D S -1 30 100 4 | 12/ 14
13 4| 431 | 436 2S W = -10 110 3| 12/ 14
14 4| 431 | 436 4H E +2 -460 480 1] 12/ 14
15 4| 431 | 436 2H N -1 -40 100 2 | 12/ 14
16 ,| 431 | 436 4S S +1 400 450 2 12/ 14
17 16| 431 | 436 4H S +2 480 480 12/ 14
18 10| 431 | 436 4S S = 280 620 8 12/ 14
19 5| 431 | 436 2NT E +1 270 150 12/ 14
20 54| 431 | 436 4S S -1 350 100 10 | 12/ 14
21 55| 431 | 436 3NT W +2 -450 460 12/ 14
22 4| 431 | 436 4S E +1 650 650 12/ 14
23 56| 431 | 436 3NT N +1 520 630 3 12/ 14
24 ,,| 431 | 436 4H N +1 450 450 11/ 13
25 g| 431 | 436 5C S -4 490 200 12 | 12/ 14
26 1| 431 | 436 3H N +2 150 200 2 12/ 14
27 4| 431 | 436 4s W +1 -230 450 6 | 11/ 13
28 55| 431 | 436 2C N 2 -120 200 2 | 12/ 14
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Skupinova soutéz A

15.09.2014

NS | 434 | Hubena - Hubeny 77 15,08 2
EW | 433 | Hanak - Urban J 50 4,92
Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 434 433

1 5| 433 | 434 5D x w 2 -90 300 9 | 12/ 14
2 oy 433 | 434 3C E = -60 110 2 12/ 14
3 ;| 433 | 434 4H S = 130 420 7| 12/ 14
4 g 433 | 434 3NT w +1 620 630 12/ 14
5 o6 433 | 434 5Cx E 2 90 300 5| 12/ 14
6 o 433 | 434 3s N -1 -160 50 3| 12/ 14
7 o5 433 | 434 6H N +1 1.740 1.460 7 12/ 14
8 19 433 | 434 4H S -4 40 200 6 12/ 14
9 44| 433 | 434 2NT E = 10 120 4 12/ 14
10 57| 433 | 434 2H S +1 440 140 7 12/ 14
11 4| 433 | 434 2Ss E +2 -360 170 5| 12/ 14
12 4| 433 | 434 3D S -1 30 100 4 12/ 14
13 4| 433 | 434 2H N = -10 110 3| 12/ 14
14 ,| 433 | 434 4H E +2 -460 480 1 12/ 14
15 50| 434 | 433 1NT S +1 -40 120 4 12/ 14
16 55| 434 | 433 4S S +1 400 450 2 12/ 14
17 15| 434 | 433 4H N +2 480 480 12/ 14
18 14| 434 | 433 2D E +1 280 110 9 | 12/ 14
19 45| 434 | 433 3s N 2 -270 100 5 12/ 14
20 47| 434 | 433 4s S = 350 620 7 12/ 14
21 46| 434 | 433 3NT w +4 -450 520 2 | 12/ 14
22 | 434 | 433 4S E -1 -650 100 13 12/ 14
23 55| 434 | 433 3NT N = 520 600 2 12/ 14
24 55| 434 | 433 4H S +2 450 480 1 11/ 13
25 | 434 | 433 4H S +1 490 450 1] 12/ 14
26 1| 434 | 433 4Hx N = 150 790 12 12/ 14
27 5| 434 | 433 4s w +1 -230 450 6 | 11/ 13
28 ¢ 434 | 433 1NT E +1 -120 120 12/ 14
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Skupinova soutéz A 15.09.2014

NS | 432 | Kala - Kyn 72 13,82

EW | 435 | Bambasovi 53 6,18

Imp pro
Nr. | NS | EW | Obr| Zavazek | NS/EW | Vysl. | Prim Hrano
NS EW 432 435

1 4| 435 | 432 4Sx S -4 -90 800 12 12/ 14
2 g 435 | 432 3C E = -60 110 2 12/ 14
3 44 435 | 432 4H S = 130 420 7| 12/ 14
4 47| 435 | 432 4H E = 620 620 12/ 14
5 o5 435 | 432 5Cx E -1 90 100 12/ 14
6 o6 435 | 432 3H w +1 -160 170 12/ 14
7 | 435 | 432 6D S +1 1.740 1.390 8 12/ 14
8 o4 432 | 435 4C N = 40 130 3 12/ 14
9 49| 432 | 435 4s w 2 10 200 5 12/ 14
10 55| 432 | 435 3NT S = 440 600 4 12/ 14
11 ,| 432 | 435 4s E = -360 420 2 | 12/ 14
12 4| 432 | 435 3D S +1 30 130 3 12/ 14
13 10| 432 | 435 3s w 2 -10 200 5 12/ 14
14 55| 432 | 435 4H E +2 -460 480 1] 12/ 14
15 15| 432 | 435 2Ss E -1 -40 50 3 12/ 14
16 57| 432 | 435 4D S 6 400 300 12 | 12/ 14
17 10| 432 | 435 4H S +2 480 480 12/ 14
18 14| 432 | 435 4S S +1 280 650 9 12/ 14
19 45| 432 | 435 3s N -1 270 50 12/ 14
20 46| 432 | 435 3Hx w = 350 730 14 | 12/ 14
21 45| 432 | 435 3NT E +1 -450 430 1 12/ 14
22 o 435 | 432 4S E +1 650 650 12/ 14
23 5| 435 | 432 3NT S = 520 600 2 | 12/ 14
24 5| 435 | 432 4H S +1 450 450 11/ 13
25 4 435 | 432 6H S -1 490 50 11 12/ 14
26 ¢| 435 | 432 4Sx w -1 150 200 2 | 12/ 14
27 5| 435 | 432 6S w -1 -230 50 7| 117 13
28 ,| 435 | 432 3C w 2 -120 100 6 | 12/ 14

Imp
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